slafl Sfaiiued afiyanias Snamise Gsia 2019
THULIR SCIENTIFIC AWARENESS TALENT TEST 2019

1 Who wrote the book “The Story of my
oo Experiments with Truth”

(s A) Gandhi B) Nehru
) &bl B) Gn@ C) Ambedkar D) Bharathiyar
C) ouGussmt D) umy&humm

‘eSSCETHmET” 6TETEID HITEME  6T(PNLIGUT

L. . . L . 2. What are the numbers that will take place in the
. SLLSS @1 Gumid eTevoTS6T  6TaaTEDT ? box?

19,20 B) 21,22 C) 20,21 D) 27,28 A) 19,20 B) 21,22 C) 20,21 D) 27,28

3. Qarhssiul@erer LLSQSTL 9 OS85 e

. " 3. Which figure comes next in the given figure
LILLD 6T&)

pattern ?

Al L
A @

A) B)

D)

4. g o miy samdEsdlh FHUOHNS 4. Which organ is involved in respiration?
A) Smifrsid B) mismuliiyed A) Kidney B) Lungs
C) @slwib D) 6066 C) Heart D) Lever

LR Las




5. @own Bl s8he 5. The Human heart beat about times per
Sl &5Ms) minute
A)72  B)82  C)92 D)100 A) 72 B)82 C)92 D) 100

Deomill Gles 6.Drink a lot of every day.

YLSSIU L up&Fern (LTEQsL) A) Packed Juice B) Water
BT C) eTevorGlevorill D) OjmeT&aGIn C) all

Geo
A)

. smeliSgleTer euemTULSS 5 mevorLirgerflear

2 wmd griul(ererg. 5 Gufler Gurss

o WIFLD  6T6OT6OT ?

. The given graph shows the height of 5 friends what
is the total height of all children ?

4m 65cm
4m 80cm 5m 15cm
4m 45¢cm 4m 80cm

' 4m 45cm _
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- 90 @“”@ﬁfﬂ“&[ '-?;QJ 2bmed  GlEwsOL (B . When the force acting on the object makes it
SHADD H’ag%gﬂm. HIgl S0 move it is said to the done a
TEOT S DISTODITL A) Work B) Joule

GSP‘“’“" B) %@,m ; C) Energy D) Force
) 668 D) opmmev

. . L. 9. Square has four
' ggjrrm. pIe® HSGRIST A) Equal B) opposite
SeGlerars) C) Nosides D) all
FLOLOM6DT B) srélymeor
) USSHISET [@)606m60 D) SjmerT&&in
. . . . . 10. We get energy from?
55]“? Lg,rf”‘f’]@ﬁ’g‘ é‘gﬂ’mm“ CupiEpmd A) Star B) Moon
e ) Blovey C) Sun D) Earth
) Giflwedr D) wfl




11.

. STITBISEHSGSLD, afomiGser GuTsTy)

Caeralls@m o eem @ISl @b G 11. What is the number that should be placed in

GoustoTigul 6TswoT 61817 the question mark?
265 B)286  C)268 D) 274 ) 265  B)286 C) 268 D) 274
. 56 l:l21 = 35 ereflled ohg Sewfls
GOSH OUCpufed @)L Coustorio? 12. SGDZ1 = 35 which symbol comes in the
A) + B)+ C)- D)x Box?
A) + By+ C)- D)x

fln @OusdHe Wil ....... UG

(gafbm D 13. In the solar family Earth is the .... Planet?

GO B) @\TetorL_meug) A) Third B) Second
[ET60TSHIT6LG] D) wsemaig) C) Forth D) First

. Geurflev 2 smrayt QuT@HLsSemer Gasifl&s) 14. Which plant saves its food at root?
UGG &l ? A) Onion B) Carrot
GleumbIgmLLD B) Gaiy C) Turmeric D) Ginger
LO@Eh&6IT D) @¢ps

15. The Scientist who found that plants too have
sense.

A) Abdul Kalam B) Einstein

C) Jagadesh Chandra Bose D) C.V. Raman

2 euriie 2 euor(h 6T6OTN)  SH6vorLMlHS6NIT .
ILIGI0S&60TLD B) ensiTsivLesdr
Qeadi ahdlyGumsv D) &.ail.ymoer

L6Thg Hnd  gemwdlaow GMssHng? 16. Which colour symbolises peace?

GleueTemerr B) sl A) White B) Black

ugemg D) &leuliy C) Green D) Red

UGSV @lmiueurt - # 17. The one in the picture ~ #
wESSRTB) @G “/yl° A Doctor B) Driver 1§l
seler D) @umpdhurem C) Police D) Engineer



18. 601 UBLSHNG THSHEMET HTL &6iT?
A) 364 B)366 C) 365 D) 367

19. CousLns QL S& gl allomE 618 7?

—

21. UW&s @WTE Lmme 6187
A) Gpmuy GCamfl B) umr

C) &m&lh D) FL@&Ema
22. ellemswumm L ...

A) dimiems  B) styfl&ems

C) Qamiwmr D) ojereorme

23. 2 amayenL Il aI@GLILEmMUTIE) WKL  @lsveurs
Gurgl ellers@ser flbg Gameremhem 1§
sTeoTeor  QleFLleuml?

A) semeenn o Siflwfl b Qstm & miGaustr

B) a&eusmevu|eir GlFeGeuear

C) afler&@aemer gjemsmriiGLsIT

D) ergieyn Qawmoe G&sGeaei

24. @ Gp&filemu (Gemmeivigd &eur)  LosvoTesofled
&S THSHmET (&6 Q&L

A) 1-5 oyeor(higer B)100 oy swor(pisseir

C) 500-1000 sysm@aer D) 23 - 29 oysm@est

25. wm gevuors/sraflemwwrs Ceusnen  Galidlmmiast

A)

18. How many days are there in a Leap year?
A) 364 B)366 C) 365 D) 367

19. Which is the fastest animal?

21. . Which bird cannot fly?
A) Ostrich B) Dove
C) Crow D) Humming bird

22. The fruit having no seeds is.........
A) Grapes B) Lemon
C) Guava D) Pine apple

23. When the light is switched on in your class room
without the students, what will you do?

A) Go and inform the HM
B) Go worried

C) Switch off the lights
D) Go doing nothing

24. How many years does a plastic bag takes to
degrade in the soil?

A) 1-5yrs

C) 500-1000 yrs

B) 100 yrs
D) 23 -29 yrs

25. Who works with ease

e a——




206.5LMhgl OgmuairigsT smmasml Gn&H6s
SLULSNSTET @I SEHMSTET  9|emLLUIT6ITLD

A) B)

27. sillpssdHa  gspeurrmiFs] menL QU@ b
A) Guosulg B) &g
C) sgIrdifl D) ereudslifl

28. umTgISMILITET LIW6wTLD 6787

26. Signs which shous that pedestrians can cross
the road is

27. Where is excavation process is going on in

Tamilnadu?
A) Meladi B) Keezhadi
C) Sathuragiri D) Elagiri

28. Which is Safe Journey?I

29. 86y o 6mem LLSSH GleusTemar Him&len
2 6Tem LUMSeT sTeueumm  QfiiLbhiSmg)?

A) Qe Glumaer

B) misihes m

C) (eir SLeumil LM&SeT

D) sLeumil UM&sT Qﬂ

30 @5 2L6 e misafl 675 KL
2L NIGE 6lgAILPD ILSTED MWD
misnnulitey, epemer, @SWD GuTETM (PSS
2 MILILSEmET LUTHSTSEHNG)

31. 618 HOMI&F @lcpsmsﬁ Qaa@ﬁuﬁlshsmsu
A) emagsdler  B) &mir
C) @muflev D) eflomesTid

29. The teeth which are marked in white in the giver
figure are known as

A) Incisors m
B) Canines
C) Premolars Qﬂ
D) Molars

30. Which of these organ systems gives shape and
support to our body and protects the important
organs of the body such as lungs, brain, heart,

etc.?
B 4
i
4 ”‘3} D)
)|
# £ B
31. Which is not polluting environment?
A) Cycle B) Car
C) Train D) Aeroplane



32.uLgdlev efBuCL erevor  Sevor(hi iy 32. Find missing number

A) 5 A) 5
B)7 ale| 2|12 B) 7 a6l 2|12
C)6 6| 1] 310 C)6 6| 1| 310
D) 4 D)4
58] 2|17 508/ 2|17
9|21 7|18 9l 27|18

33. Gastalla@m ostar ELoHD &Gy o eren 33. Which letter should replace the question
S TWHS @LD QubpTR @) mark to form two meaningful words
Soliurer AMTSmES6T SHmL&EGL

A)C A) C

B)D B) D

C)P C)P

D) S D) S

34. sevorenormy Sl 2 6o Fifled ep(m 34 When a coin is dropped is a glass of water, it
BIenTLGemE GUTHILGLTE & _ will )

A) fI5&EL B) eyy@Ld A) Float B) Sink

C) urduile fis&@n D)  &emmev 2 gL LI C) Float mid-way D) Break the glas

. .- 5
35. B SOESSING Sjeuluiorer e’ 35. Name the gas essential for our respiration?

A L é] . B . . .
C)) %girrgg D)) f;ﬁgg;ﬁr o om0 A) Oxygen  B) Corbondioxide
2 C) Nitrogen D) Methane
36. @meormeug ULSHeT Ly 36. Value of the second diagram
1
= L1 —
2
1 3 1
A) E B — c) — Dy —

N

D

H
W



37. Nereumld LLSEe0 2 eem 37. How many triangles are in the following

W&Csmemrmisaflsr  sreirenflsmas diagram
A) 3
A) 3 B) 5
B) S C) 7
C) 7 D) 9
D) 9
38. Metreupld LLSH60 X, y, z @l6ir L&ILs6T 38. Value of x, y, z in the following diagram is
(LpsomGiL respectively
A) 3,5,12 B) 5, 3,12 A) 3,5,12 B) 5, 3,12
C) 12,5, 3 D) 5, 12, 3 C) 12,5, 3 D)5, 12, 3

60 Months Years |
LT ¢ Mo 67T LA | Pl BT
T Hour

Lomar]

8 Days ke
[T 6T RLMTTELET

9 . P 151 oI
39 Qareu@ LLSdler oty Hirdlusdiiy 39. Mirror image of the following diagram

o T =] =

40.8Gy o emer uLsET Sev grommsaler Garm 40 The figures below show the roots of some

LGSl W[m‘mm“a‘”m@" @l o) plants. Which of the following will hold the plant
z;gg&mf@mf 2 QSIS LosHTEm)L_6ir most firmly to the soil?



41. uLrusefled eetTm WG Coum ollgeISSl6d
2 erengy). Sevor( Lilg

A \ ) /

42. eugouriseflesr  Lodlliemu
17
14

seoor (bl

A)6,3,8 B) 4,6,7

D)5,7,4 SIXEEEN ¢

43. snmIEEs LreUT (D& aHITe & HT
goule @re srhds FHmid

A) Lo6umeLIT B) HGriLm seruis

C) GLmym D) dler&aent

44) @riE QsTe 2 (HeTE@L
A) ami B)&L 60 C)an&&emL D)gjsuomfl

45. ... + o = 50 QanE ToHHmeT ellenL 6T

A)2 B)3 C)4 D)sTearemarm
46. 6THG eLP6ITN)  AUIpOIMBISEN6T  ([@)em6ToTSH S
SMIBICSHTEITD  |eMLDSES60MLD?

A)A,B,D B)B.CD C)ABC D)ACD

A B

41. Which shape is diffrent ? find odd one out

o _ Do /
42. Find the value of

lll 2

A) 6,3,8

D)5,7,4

43. She is the voice of the UNO against
environmental pollution

A) Shin chan B) Malala

C) Greta Thunberg D) Dora

B) 4,6,7
C)648

44. This is where mosquitoes develop
A) River B) Sea C) Ditch D) Wardrobe

45, +

have?
B) 3

= 50 How many answers does this

A) 2 C)4 D) Numerous
46. Which of the three shapes combined to set the
Hexagon?

A) A,B,D B)B,C,D C)AB,C D)ACD

47. Uusgsl TSI RS55I7
A)eu’Lld B) iy C) G&eiausd D) searblasinisn

48. pog| 2 L eueTiFdHE 2 Gad 2 smoreiGLmmsr
Tumed  2.erevorQlemoril 3.@evm&dl 4. @efliumern 5.0qmiy
A)1,2,3,4 B)1,3,45 C)1,3,5 D)gmearsgid

49. gmdled @ uTeTseled spsiTm LWL (HID 6L
Gl&soeug) er6ar?

A) emmisE 6oL @sme i

B) smhmis@ umyb Seenn Sl IuTg)

C) smm&g 6oL @(mLILSTE J a

D) uerett UMSSTE)

_F_,qih‘ g

-
et T

50. @nglumeleor Ca&w wmd ...
A) QaeiTemenT Lo B) Geuliu Lomid

C) Sysutonid D) gmgeo LomLD

47. The book is similar to.....
A) Circle B) Cone C) Rectangle D) Cubic rectangle

48. That helps for the growth of our body
1. Milk 2. Oil 3. Meat 4. Cool drinks 5. pulses
A)1,2,3,4 B)1,3,45 C)1,3,5 D) All

49. Why only one of the two balloons hanging from
the Balance going down?

A) The Air has no weight B) There is no air flow

C) Because the air has weight I ——

D) The balloon will not fly [}

50. National Tree of India is ........
A) Coconut tree B) Neem tree
C) Banyan tree D) Sandal tree
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